

PITHAPUR RAJAH'S GOVERNMENT COLLEGE ,KAKINADA

DEPARTMENT OF MATHEMATICS



Laveti. Surya Bala Ratna Bhanu M.Sc ,B.Ed

Lecturer in Mathematics

Phone:7330946793 ,9704768781.

Email: bhanuasdgdc@gmail.com

Unit-3.
Limits and Continuity

①

Def:- Modulus function:-

The function $f: \mathbb{R} \rightarrow \mathbb{R}$ defined by $f(x) = |x|$.
and it is defined $f(x) = \begin{cases} x & \text{if } x \geq 0 \\ -x & \text{if } x < 0 \end{cases}$
is called Modulus function.

Def:- Integral part function:-

Let The function $f: \mathbb{R} \rightarrow \mathbb{R}$ be defined by $f(x) = [x]$.
is called an integral part of x .

Def:- Limit of a function:-

The function f from limit l as x tends to a if,
"To each $\epsilon > 0$, $\exists \delta > 0$ $\ni$, $|f(x) - l| < \epsilon$ whenever
 $0 < |x - a| < \delta$. we write $f(x) \rightarrow l$ as $x \rightarrow a$."

It is denoted by $\lim_{x \rightarrow a} f(x) = l$.

i), Right hand limit:- The function f tends to
limit l as $x \rightarrow a$ from right. if, to each $\epsilon > 0$,

$\exists \delta > 0$, $\ni a < x < a + \delta \Rightarrow |f(x) - l| < \epsilon$.

we write $f(x) \rightarrow l$ as $x \rightarrow a$ (or) $\lim_{x \rightarrow a^+} f(x) = l$ (or) $f(a+0) = l$.

ii), Left hand limit:- The function f tends to
limit l as $x \rightarrow a$ from left. if to each $\epsilon > 0$,

$\exists \delta > 0$, $\ni a - \delta < x < a \Rightarrow |f(x) - l| < \epsilon$ we write

$f(x) \rightarrow l$ (or) $f(a-0) = l$.

Hence the two conditions are satisfied then f is called

Limit of a function.

(2)

Ex:- $L.H.L = f(a^-) = \lim_{x \rightarrow a^-} f(x)$

put $x = a - h$

then $\lim_{x \rightarrow a^-} f(x) = \lim_{h \rightarrow 0} f(a - h)$

$R.H.L = f(a^+) = \lim_{x \rightarrow a^+} f(x)$

put $x = a + h$

then $\lim_{x \rightarrow a^+} f(x) = \lim_{h \rightarrow 0} f(a + h)$

Prob:-

① Prove that $\lim_{x \rightarrow 0} \frac{3x + |x|}{7x - 5|x|}$ does not exist.

Sol:- Given. $f(x) = \frac{3x + |x|}{7x - 5|x|}$, $|x| = \begin{cases} x & \text{if } x > 0 \\ -x & \text{if } x < 0 \end{cases}$

Now (i) $L.H.L = \lim_{\substack{x \rightarrow a^- \\ x < a}} f(x) = \lim_{x \rightarrow 0^-} \frac{3x - x}{7x - 5(-x)}$

$= \lim_{x \rightarrow 0^-} \frac{2x}{12x}$

$= \frac{1}{6}$

(ii) $R.H.L = \lim_{\substack{x \rightarrow a^+ \\ x > a}} f(x) = \lim_{x \rightarrow 0^+} \frac{3x + x}{7x - 5x}$

$= \lim_{x \rightarrow 0^+} \frac{4x}{2x}$

$= 2$

$$\therefore \text{L.H.L} \neq \text{R.H.L.}$$

(3)

Hence, $\lim_{x \rightarrow 0} \frac{3x + |x|}{7x - 5|x|}$ does not exist.

2) Prob:- Let $f: \mathbb{R} \rightarrow \mathbb{R}$ is a function defined $f(x) = \frac{|x-2|}{x-2}$ where $x \neq 2$ and $f(x) = 0$ when $x = 2$ prove that $\lim_{x \rightarrow 2} \frac{|x-2|}{x-2}$ does not exist.

Sol:- Given $f(x) = \frac{|x-2|}{x-2}$.

$$\text{where } |x-2| = \begin{cases} x-2 & \text{if } x-2 > 0 \Rightarrow x > 2 \\ -(x-2) & \text{if } x-2 < 0 \Rightarrow x < 2 \end{cases}$$

$$\begin{aligned} \text{Now (i) L.H.L :- } \lim_{\substack{x \rightarrow 2^- \\ x < 2}} f(x) &= \lim_{x \rightarrow 2^-} \frac{|x-2|}{x-2} \\ &= \lim_{x \rightarrow 2^-} \frac{-(x-2)}{x-2} \\ &= -1. \end{aligned}$$

$$\begin{aligned} \text{(ii) R.H.L :- } \lim_{\substack{x \rightarrow 2^+ \\ x > 2}} f(x) &= \lim_{x \rightarrow 2^+} \frac{|x-2|}{x-2} \\ &= \lim_{x \rightarrow 2^+} \frac{x-2}{x-2} \\ &= 1. \end{aligned}$$

$$\therefore \text{L.H.L} \neq \text{R.H.L.}$$

Hence The given function does not exist.

3) If $f: \mathbb{R} \rightarrow \mathbb{R}$ defined by $f(x) = \begin{cases} x & \text{if } 0 \leq x \leq \frac{1}{2} \\ 0 & \text{if } x = \frac{1}{2} \\ x-1 & \text{if } \frac{1}{2} < x \leq 1. \end{cases}$

find $\lim_{x \rightarrow \frac{1}{2}} f(x)$ exists (or) not?

Sol:- Given $f(x) = \begin{cases} x & \text{if } 0 \leq x \leq \frac{1}{2} \\ 0 & \text{if } x = \frac{1}{2} \\ x-1 & \text{if } \frac{1}{2} < x \leq 1 \end{cases}$

(4)

i) L.H.L :- $\lim_{\substack{x \rightarrow \frac{1}{2}^- \\ x < \frac{1}{2}}} f(x) = \lim_{x \rightarrow \frac{1}{2}^-} x$

$$= \lim_{h \rightarrow 0} \left(\frac{1}{2} - h \right)$$

$$= \frac{1}{2}$$

ii) R.H.L :- $\lim_{\substack{x \rightarrow \frac{1}{2}^+ \\ x > \frac{1}{2}}} f(x) = \lim_{x \rightarrow \frac{1}{2}^+} (x-1)$

$$= \lim_{h \rightarrow 0} \left(\frac{1}{2} + h \right) - 1$$

$$= \frac{1}{2} - 1$$

$$= -\frac{1}{2}$$

$\therefore \text{L.H.L} \neq \text{R.H.L.}$

$\therefore$ The given function does not exist.

4) Prove that $\lim_{x \rightarrow 1} \frac{\log x}{x-1} = 1$.

Sol:- Given $f(x) = \frac{\log x}{x-1}$

W.K.T. $\log(x) = x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots$ — (1)

$\log x = \log \left(1 + \underline{(x-1)} \right)$

Sub $(x-1)$ value in eq (1)

(1) $\Rightarrow (x-1) - \frac{(x-1)^2}{2} + \frac{(x-1)^3}{3} - \frac{(x-1)^4}{4} + \dots$

Now

(5)

$$\begin{aligned}
 \lim_{x \rightarrow 1} \frac{\log x}{x-1} &= \lim_{x \rightarrow 1} \left\{ \frac{[(x-1) - \frac{(x-1)^2}{2} + \frac{(x-1)^3}{3} - \frac{(x-1)^4}{4} + \dots]}{x-1} \right\} \\
 &= \lim_{x \rightarrow 1} \left\{ \frac{\cancel{(x-1)} \left[1 - \frac{(x-1)}{2} + \frac{(x-1)^2}{3} - \dots \right]}{\cancel{(x-1)}} \right\} \\
 &= \lim_{x \rightarrow 1} \left\{ 1 - \frac{(x-1)}{2} + \frac{(x-1)^2}{3} - \frac{(x-1)^3}{4} + \dots \right\} \\
 &= 1 - 0 + 0 - 0 - \dots \\
 &= 1
 \end{aligned}$$

$$\therefore \lim_{x \rightarrow 1} \frac{\log x}{x-1} = 1.$$

Prob:-

5) prove that $\lim_{x \rightarrow 0} \frac{e^x - 1}{x} = 1$

Sol:- Given $f(x) = \frac{e^x - 1}{x}$

W.K.T $e^x = 1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \dots$

$$\lim_{x \rightarrow 0} f(x) = \lim_{x \rightarrow 0} \left\{ \frac{\left[1 + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \dots \right] - 1}{x} \right\}$$

$$= \lim_{x \rightarrow 0} \left\{ \frac{\cancel{1} + \frac{x}{1!} + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots - \cancel{1}}{x} \right\}$$

$$= \lim_{x \rightarrow 0} \left\{ \frac{x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots}{x} \right\}$$

$$= \lim_{x \rightarrow 0} \left\{ \frac{\cancel{x} \left(1 + \frac{x}{2!} + \frac{x^2}{3!} + \dots \right)}{\cancel{x}} \right\}$$

$$= 1 + \frac{0}{2!} + \frac{0}{3!} + \dots = 1$$

$$\therefore \lim_{x \rightarrow 0} \frac{e^x - 1}{x} = 1.$$

(6)

Prob:-

6) If $f: \mathbb{R} - \{0\} \rightarrow \mathbb{R}$ defined by $f(x) = x^2 \sin \frac{1}{x}$

prove that $\lim_{x \rightarrow 0} f(x) = 0$

Sol:-

Given that $f: \mathbb{R} - \{0\} \rightarrow \mathbb{R}$ defined by

$$f(x) = x^2 \sin \frac{1}{x}$$

$$\text{w.k.t } -1 \leq \sin x \leq 1$$

$$-1 \leq \sin \frac{1}{x} \leq 1$$

$$-x^2 \leq x^2 \sin \frac{1}{x} \leq x^2$$

Using limit function, we have

$$\lim_{x \rightarrow 0} (-x^2) \leq \lim_{x \rightarrow 0} x^2 \sin \frac{1}{x} \leq \lim_{x \rightarrow 0} x^2$$

$$\Rightarrow 0 \leq \lim_{x \rightarrow 0} x^2 \sin \frac{1}{x} \leq 0 \quad (\text{By Sandwich Thm statement})$$

$$\Rightarrow \text{By Sandwich theorem, } \lim_{x \rightarrow 0} x^2 \sin \frac{1}{x} = 0.$$

$$\text{Hence, } \lim_{x \rightarrow 0} x^2 \sin \frac{1}{x} = 0.$$

Prob:-
7)

If $f(x) = \frac{e^{1/x}}{1+e^{1/x}}$ Find $\lim_{x \rightarrow 0} f(x)$ exists or not?

$$\text{sol:- Given } f(x) = \frac{e^{1/x}}{1+e^{1/x}}$$

$$\text{Now L.H.L :- } \lim_{x \rightarrow 0^-} \frac{e^{1/x}}{1+e^{1/x}} \quad \lim_{x \rightarrow 0^+} \frac{e^{1/x}}{1+e^{1/x}}$$

$$= \frac{\lim_{x \rightarrow 0^-} e^{1/x}}{1 + \lim_{x \rightarrow 0^-} e^{1/x}}$$

$$= \frac{0}{1+0}$$

$$= \frac{0}{1}$$

$$= 0$$

$$\text{R.H.L.:-} \lim_{x \rightarrow 0^+} \frac{e^{1/x}}{1+e^{1/x}}$$

$$= \frac{\lim_{x \rightarrow 0^+} e^{1/x}}{\lim_{x \rightarrow 0^+} [e^{1/x} \left(\frac{1}{e^{1/x}} + 1 \right)]}$$

$$= \frac{\lim_{x \rightarrow 0^+} e^{1/x}}{\lim_{x \rightarrow 0^+} e^{1/x} \cdot \lim_{x \rightarrow 0^+} \left(\frac{1}{e^{1/x}} + 1 \right)}$$

$$= \frac{1}{\lim_{x \rightarrow 0^+} [e^{-1/x} + 1]}$$

$$= \frac{1}{0+1}$$

$$= 1$$

$$\therefore \text{L.H.L.} \neq \text{R.H.L.}$$

$$\therefore \lim_{x \rightarrow 0} f(x) \text{ does not exist.}$$

Prob:-

(8). If $f: \mathbb{R} - \{0\} \rightarrow \mathbb{R}$ defined by

$$a) f(x) = \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}}$$

$$b) f(x) = \frac{e^{1/x} - 1}{e^{1/x} + 1}$$

Show that $\lim_{x \rightarrow 0} f(x)$ exists (or) does not exist

(a) Given $f(x) = \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}}$

$$\begin{aligned} \text{L.H.L} \therefore \lim_{x \rightarrow 0^-} f(x) &= \lim_{x \rightarrow 0^-} \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}} \\ &= \lim_{x \rightarrow 0^-} \frac{e^{-1/x} \left[\frac{e^{1/x}}{e^{-1/x}} - 1 \right]}{e^{-1/x} \left[\frac{e^{1/x}}{e^{-1/x}} + 1 \right]} \end{aligned}$$

$$= \lim_{x \rightarrow 0^-} \left[\frac{(e^{1/x})^r - 1}{(e^{1/x})^r + 1} \right]$$

$$= \frac{\lim_{x \rightarrow 0^-} (e^{1/x})^r - 1}{\lim_{x \rightarrow 0^-} (e^{1/x})^r + 1}$$

$$= \frac{0 - 1}{0 + 1} = \frac{-1}{1} = -1$$

$$\begin{aligned} \text{R.H.L} \therefore \lim_{x \rightarrow 0^+} f(x) &= \lim_{x \rightarrow 0^+} \frac{e^{1/x} - e^{-1/x}}{e^{1/x} + e^{-1/x}} \\ &= \lim_{x \rightarrow 0^+} \frac{e^{1/x} \left[1 - \frac{e^{-1/x}}{e^{1/x}} \right]}{e^{1/x} \left[1 + \frac{e^{-1/x}}{e^{1/x}} \right]} \end{aligned}$$

$$= \lim_{x \rightarrow 0^+} \frac{1 - (e^{-1/x})^r}{1 + (e^{-1/x})^r}$$

$$= \frac{\lim_{x \rightarrow 0^+} 1 - (e^{-1/x})^r}{\lim_{x \rightarrow 0^+} 1 + (e^{-1/x})^r} = \frac{1 - 0}{1 + 0} = \frac{1}{1} = 1$$

$\therefore \text{LHL} \neq \text{RHL}$

(9)

$\therefore \lim_{x \rightarrow 0} f(x)$ does not exist.

b) Given $f(x) = \frac{e^{1/x} - 1}{e^{1/x} + 1}$

$$\begin{aligned} \text{L.H.L} \therefore \lim_{x \rightarrow 0^-} f(x) &= \lim_{x \rightarrow 0^-} \frac{e^{1/x} - 1}{e^{1/x} + 1} \\ &= \frac{\lim_{x \rightarrow 0^-} [e^{1/x} - 1]}{\lim_{x \rightarrow 0^-} [e^{1/x} + 1]} \end{aligned}$$

$$\begin{aligned} &= \frac{0 - 1}{0 + 1} \\ &= \frac{-1}{1} = -1 \end{aligned}$$

$$\begin{aligned} \text{R.H.L} \therefore \lim_{x \rightarrow 0^+} f(x) &= \lim_{x \rightarrow 0^+} \frac{e^{1/x} - 1}{e^{1/x} + 1} \\ &= \lim_{x \rightarrow 0^+} \frac{e^{1/x} \left[1 - \frac{1}{e^{1/x}} \right]}{e^{1/x} \left[1 + \frac{1}{e^{1/x}} \right]} \end{aligned}$$

$$= \lim_{x \rightarrow 0^+} \left[\frac{1 - e^{-1/x}}{1 + e^{-1/x}} \right]$$

$$= \frac{\lim_{x \rightarrow 0^+} [1 - e^{-1/x}]}{\lim_{x \rightarrow 0^+} [1 + e^{-1/x}]}$$

$$= \frac{1 - 0}{1 + 0}$$

$$= 1$$

$$\therefore \text{LHL} \neq \text{RHL}$$

$\therefore \lim_{x \rightarrow 0} f(x)$ does not exist.

Continuity

(10)

Def:- Let S be a non empty subset of real numbers $\mathbb{R}$. $f: S \rightarrow \mathbb{R}$ is a function and $a \in S$, f is said to be continuous at $x=a$, if for each $\epsilon > 0$, $\exists \delta > 0$ $\ni$, $0 < |x-a| < \delta$.

$$\Rightarrow |f(x) - f(a)| < \epsilon$$

$$\text{ie, } \lim_{x \rightarrow a} f(x) = f(a) \quad \forall a \in \mathbb{R},$$

example:- Let f defined by $f(x) = \frac{x^2 + x - 6}{x - 2}$ $\forall x \in \mathbb{R} - \{2\}$. Find the continuity at $x=2$.

sol:- Given $f(x) = \frac{x^2 + x - 6}{x - 2}$

$$\begin{aligned} \text{Taking } x^2 + x - 6 &= x^2 + 3x - 2x - 6 \\ &= x(x+3) - 2(x+3) \\ &= (x-2)(x+3) \end{aligned}$$

$$\therefore f(x) = \frac{(x-2)(x+3)}{(x-2)}$$

$$\therefore f(x) = (x+3)$$

apply limit value

$$\lim_{x \rightarrow 2} f(x) = \lim_{x \rightarrow 2} (x+3)$$

$$= 2+3$$

$$= 5$$

$$=$$

$\therefore f(x)$ is continuous at $x=2$

1) Find the constants a and b defined by

$$f(x) = \begin{cases} 2x+1 & \text{if } x \leq 1 \\ ax^r+b & \text{if } 1 < x < 3 \\ 5x+2a & \text{if } x \geq 3 \end{cases}$$

is continuous everywhere.

Sol:- Since $f(x)$ is continuous at everywhere

(i) $\lim_{x \rightarrow 1^-} f(x) = \lim_{x \rightarrow 1^-} f(x).$

$$\lim_{x \rightarrow 1^-} (2x+1) = \lim_{\substack{x \rightarrow 1^+ \\ x > 1}} (ax^r+b).$$

$$\lim_{h \rightarrow 0} [2(1-h)+1] = \lim_{h \rightarrow 0} [a(1+h)^r+b]$$

$$\Rightarrow 2(1-0)+1 = a(1+0)^r+b$$

$$\Rightarrow 3 = a+b \quad \text{--- (1)}$$

(ii) $\lim_{x \rightarrow 3^-} f(x) = \lim_{x \rightarrow 3^+} f(x)$

$$\lim_{\substack{x \rightarrow 3^- \\ x < 3}} (ax^r+b) = \lim_{\substack{x \rightarrow 3^+ \\ x > 3}} (5x+2a)$$

$$\lim_{h \rightarrow 0} [a(3-h)^r+b] = \lim_{h \rightarrow 0} [5(3+h)+2a]$$

$$\Rightarrow a(3-0)^r+b = 5(3+0)+2a$$

$$\Rightarrow 9a+b = 15+2a$$

$$\Rightarrow 7a+b = 15 \quad \text{--- (2)}$$

Solving (1) and (2) we get, a, b

$$\begin{array}{rcl} a+b & = & 3 \\ 7a+b & = & 15 \\ \hline -6a & = & -12 \end{array}$$

$$6a = 12$$

$$\boxed{a = 2}$$

Sub $a=2$ in (1)

$$2+b=3$$

$$b = 3-2$$

$$\boxed{b = 1}$$

2) Examine the continuity of the function f defined by $f(x) = |x| + |x-1|$ at $x=0, 1$.

sol:- Given $f(x) = |x| + |x-1|$

$$|x| = \begin{cases} x & \text{if } x > 0 \\ -x & \text{if } x \leq 0 \end{cases}$$

$$|x-1| = \begin{cases} x-1 & \text{if } x-1 > 0 \Rightarrow x > 1 \\ -(x-1) & \text{if } x-1 \leq 0 \Rightarrow x \leq 1 \end{cases}$$

$$\text{For } x \leq 0 \text{ if } f(x) = -x - x + 1 = 1 - 2x$$

$$0 < x < 1 \text{ if } f(x) = x - x + 1 = 1$$

$$x \geq 1 \text{ if } f(x) = x + x - 1 = 2x - 1$$

3) Continuity at $x=0$:-

$$\text{At } x=0 \Rightarrow f(0) = 1 - 2(0) = 1$$

$$\begin{aligned}\lim_{x \rightarrow 0^-} f(x) &= \lim_{\substack{x \rightarrow 0^- \\ x < 0}} 1 - 2x \\ &= 1 - 2(0) \\ &= 1\end{aligned}$$

$$\begin{aligned}\lim_{x \rightarrow 0^+} f(x) &= \lim_{\substack{x \rightarrow 0^+ \\ x > 0}} 1 \\ &= 1\end{aligned}$$

$$\therefore \lim_{x \rightarrow 0^-} f(x) = \lim_{x \rightarrow 0^+} f(x) = f(0) = 1$$

$\therefore f$ is continuous at $x=0$.

(ii) Continuity at $x=1$
at $x=1$, $\Rightarrow f(x) = 2x - 1$
 $f(1) = 1$

$$\begin{aligned}\text{Now } \lim_{\substack{x \rightarrow 1^- \\ x < 1}} f(x) &= \lim_{\substack{x \rightarrow 1^- \\ x < 1}} (1) \\ &= 1\end{aligned}$$

$$\begin{aligned}\lim_{x \rightarrow 1^+} f(x) &= \lim_{\substack{x \rightarrow 1^+ \\ x > 1}} 2x - 1 \\ &= 2(1) - 1 \\ &= 1\end{aligned}$$

$$\therefore \lim_{x \rightarrow 1^-} f(x) = \lim_{x \rightarrow 1^+} f(x) = f(1) = 1$$

$\therefore f$ is continuous at $x=1$.

3) Uniformly Continuity :-

(14)

Let $f: S \rightarrow \mathbb{R}$ be a function then f is said to be Uniformly Continuous on S if, given $\varepsilon > 0$, $\exists \delta > 0$ such that $x_1, x_2 \in S$, $|x_1 - x_2| < \delta \Rightarrow |f(x_1) - f(x_2)| < \varepsilon$

Prob:- Show that f is defined by $f(x) = x^3$ is Uniformly Continuous on $[-2, 2]$

Sol:- Given that $f(x) = x^3$
Let $x_1, x_2 \in [-2, 2]$ and $\varepsilon > 0$,

$$\Rightarrow |x_1| \leq 2, |x_2| \leq 2$$

$$\begin{aligned} \text{Consider } |f(x_1) - f(x_2)| &= |x_1^3 - x_2^3| \\ &= |(x_1 - x_2)(x_1^2 + x_1x_2 + x_2^2)| \\ &= |x_1 - x_2| |x_1^2 + x_1x_2 + x_2^2| \\ &\leq |x_1 - x_2| (|x_1|^2 + |x_1x_2| + |x_2|^2) \end{aligned}$$

$$\leq |x_1 - x_2| [2^2 + 2 \cdot 2 + 2^2]$$

$$\leq |x_1 - x_2| [4 + 4 + 4]$$

$$\leq |x_1 - x_2| \cdot 12$$

$$3. |f(x_1) - f(x_2)| \leq 12 \cdot |x_1 - x_2|$$

$\therefore |f(x_1) - f(x_2)| < \varepsilon$ whenever $|x_1 - x_2| < \delta$
where $\delta = \frac{\varepsilon}{12}$, hence $f(x)$ is Uniformly Continuous on $[-2, 2]$

4) Prob:- Show that f is defined by $f(x) = \sqrt{x}$ is Uniformly Continuous on $[0, 1]$.

Sol:- Given that $f(x) = \sqrt{x}$
let $x_1, x_2 \in [0, 1]$ & $\epsilon > 0$

$$\Rightarrow |x_1| \leq 1$$

$$\Rightarrow |x_2| \leq 1$$

$$\text{Consider } |f(x_1) - f(x_2)| = |\sqrt{x_1} - \sqrt{x_2}|$$

$$= \left| \frac{\sqrt{x_1} - \sqrt{x_2} \times \sqrt{x_1} + \sqrt{x_2}}{\sqrt{x_1} + \sqrt{x_2}} \right|$$

$$= \left| \frac{x_1 - x_2}{\sqrt{x_1} + \sqrt{x_2}} \right|$$

$$\leq \frac{|x_1 - x_2|}{|\sqrt{x_1} + \sqrt{x_2}|}$$

$$\leq \frac{|x_1 - x_2|}{|0 + 1|}$$

$$\leq |x_1 - x_2|$$

$\therefore$ By definition of Uniform Continuity
 $|f(x_1) - f(x_2)| < \epsilon$ whenever $|x_1 - x_2| < \delta$
 where $\delta = \epsilon > 0$

$\therefore f(x)$ is Uniformly Continuous on $[0, 1]$.

5) Show that f is defined by $f(x) = x^2 + 2x + 2$.

(16)

is Uniformly Continuous on $[1, 2]$

Sol:- Given that $f(x) = x^2 + 2x + 2$

Let $x_1, x_2 \in [1, 2]$ and $\varepsilon > 0$.

$$\Rightarrow |x_1| \leq 1$$

$$\Rightarrow |x_2| \leq 2$$

Consider $|f(x_1) - f(x_2)|$

$$= |(x_1^2 + 2x_1 + 2) - (x_2^2 + 2x_2 + 2)|$$

$$= |x_1^2 + 2x_1 + \cancel{2} - x_2^2 - 2x_2 - \cancel{2}|$$

$$= |x_1^2 + 2x_1 - x_2^2 - 2x_2|$$

$$= |x_1^2 - x_2^2 + 2x_1 - 2x_2|$$

$$= |x_1^2 - x_2^2 + 2(x_1 - x_2)|$$

$$= |(x_1 - x_2)(x_1 + x_2) + 2(x_1 - x_2)|$$

$$= |(x_1 - x_2)(x_1 + x_2 + 2)|$$

$$\leq |x_1 - x_2| (|x_1| + |x_2| + |2|)$$

$$\leq |x_1 - x_2| [1 + 2 + 2]$$

$$\leq |x_1 - x_2| 5$$

$$\therefore |f(x_1) - f(x_2)| \leq 5|x_1 - x_2|$$

$$\therefore |f(x_1) - f(x_2)| < \varepsilon \text{ whenever } |x_1 - x_2| < \delta$$

$$\text{where } \delta = \frac{\varepsilon}{5}$$

$\therefore f(x)$ is Uniformly Continuous on $[1, 2]$

Def:- Partition of a closed interval:-

→ Let $[a, b]$ be a closed interval. Let $a = x_0 < x_1 < x_2 < \dots < x_n = b$ then the finite set $P = \{x_0, x_1, \dots, x_n\}$ is called the partitions of $[a, b]$. Then $n+1$ points are called partition points of P .

→ $[x_0, x_1], [x_1, x_2], \dots, [x_{n-1}, x_n]$ are called 'subintervals of partition P '.

→ The r^{th} subinterval is denoted by I_r and its length is defined as $\text{length} = x_r - x_{r-1}$ and it is denoted by δ_r .

1) Theorem:- If $f: [a, b] \rightarrow \mathbb{R}$ is continuous on $[a, b]$. then f is bounded on $[a, b]$.

Proof:- Given $f: [a, b] \rightarrow \mathbb{R}$ is continuous on $[a, b]$, we can divide $[a, b]$ into finite number of subinterval. Say $[a = a_0, a_1], [a_1, a_2], \dots, [a_{n-1}, a_n]$.

$\Rightarrow |f(x_1) - f(x_2)| < \epsilon$ — (1) whenever x_1, x_2 belongs to the same subinterval.

Let x be any point in the first sub interval $[a, a_1]$ then from eq (1) $|f(x) - f(a_1)| < \epsilon$.

Whenever $x \in [a, a_1]$

$$|f(x)| = |f(x) - f(a) + f(a)|$$

$$\leq |f(x) - f(a)| + |f(a)|$$

$$|f(x)| < \epsilon + |f(a)|$$

In Particular if $x=a$, then $|f(a)| < \epsilon + |f(a)|$ — (2)

Let x be any point in the second subinterval
then from eq (1)

$$|f(x) - f(a_1)| < \epsilon \quad \forall x \in [a_1, a_2]$$

$$\begin{aligned} |f(x)| &= |f(x) - f(a_1) + f(a_1)| \\ &\leq |f(x) - f(a_1)| + |f(a_1)| \end{aligned}$$

$$\begin{aligned} |f(x)| &< \epsilon + |f(a_1)| \\ &< \epsilon + \epsilon + |f(a)| \quad (\text{from (2)}) \end{aligned}$$

$$|f(x)| < 2\epsilon + |f(a)|.$$

In Particular if $x=a_2$ then $|f(a_2)| < 2\epsilon + |f(a)|$

Proceeding in this way we get $|f(x)| < n\epsilon + |f(a)|$
 $\forall x \in [a_{n-1}, a_n].$

$\therefore$ The inequality holds for the whole interval, that is

$$\forall x \in [a, b]$$

$$\therefore |f(x) - f(a)| < |n\epsilon + f(a) - f(a)|$$

$$|f(x) - f(a)| < n\epsilon$$

$$\therefore -n\epsilon < f(x) - f(a) < n\epsilon$$

$$\Rightarrow f(a) - n\epsilon < f(x) < n\epsilon + f(a).$$

$\therefore f$ is bounded.

=

Example:- Every Continuous function is bounded.
But bounded function neednot be continuous.

Sol:- $f(x) = \begin{cases} 1 & \text{if } x > 0 \\ -1 & \text{if } x \leq 0 \end{cases}$

$\therefore -1 \leq f(x) \leq 1$

$\therefore f$ is bounded on $\mathbb{R}$.

Hence Every continuous function f is bounded.
Conversely, we have to prove that bounded function neednot be continuous.

Now,

L.H.L:- $\lim_{\substack{x \rightarrow 0^- \\ x < 0}} f(x) = \lim_{x \rightarrow 0^-} (-1) = -1$

R.H.L:- $\lim_{\substack{x \rightarrow 0^+ \\ x > 0}} f(x) = \lim_{x \rightarrow 0^+} (1) = 1$

$\therefore \text{LHL} \neq \text{RHL}$

$\therefore f$ is not continuous at $x=0$.

Hence. Every bounded function neednot be continuous.

Def:-